ATOMIC ENERGY CENTRAL SCHOOL NO 3, MUMBAI
PERIODIC TEST 1 (2025-26) ENGLISH COMMUNICATIVE (101)

CLASS 10 MM: 40 TIME- 90 MINUTES

SECTION A - READING (10 MARKS)
Q1 Read the Passage given below.

The quality of education in any country largely depends on the infrastructure of its educational
institutes. Well-developed infrastructure creates a healthy learning environment, promotes better
academic performance, and helps students develop holistically. Unfortunately, many schools and
colleges in India, especially in rural and underprivileged areas, lack the basic infrastructure
needed for effective learning.

One of the most crucial areas for improvement is classroom facilities. Many schools still operate
in overcrowded or poorly ventilated rooms. Properly designed classrooms with adequate seating,
lighting, and ventilation are essential to keep students attentive and comfortable. Digital
classrooms with smart boards and projectors can enhance learning by making lessons more
interactive and engaging.

Sanitation and hygiene are equally important. A large number of government schools do not have
clean and separate toilets for boys and girls, leading to absenteeism, especially among girls.
Providing clean drinking water, handwashing stations, and regular maintenance of sanitation
facilities should be a top priority.

Libraries and laboratories are vital components of a well-rounded education. Many schools lack
well-stocked libraries or science labs, limiting students ’‘exposure to reading materials and
practical experiments. Establishing updated libraries and well-equipped labs can improve

students 'curiosity, creativity, and scientific temper.

Another important area is the infrastructure for sports and physical activity. Many educational
institutes do not have playgrounds or sports equipment, depriving students of physical
development and stress relief. Schools and colleges should invest in sports grounds, courts, and
indoor games to promote a healthy and active lifestyle. With the rise of technology, internet
connectivity and computer labs have become essential. Providing computers with internet access
helps students learn digital skills, access online educational resources, and stay updated with
the modern world.

In addition, infrastructure for students with disabilities should not be overlooked. Ramps,
railings, special toilets, and learning aids should be provided to ensure inclusive education for
all. Safety and security measures must also be in place, including boundary walls, CCTV
surveillance, emergency exits, and fire safety equipment to create a safe environment for
students and staff.

Lastly, proper teacher training rooms, staff rooms, and administrative offices are essential for the
smooth functioning of educational institutions. In conclusion, improving infrastructure in

educational institutes is not just about building structures but about creating spaces that
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support learning, inclusion, safety, and growth. With the right investment and planning, we can
ensure that every child in India receives quality education in a safe and supportive environment.
Based on the reading of the above passage, answer the following questions by

choosing the most appropriate options. (1 x 10 = 10m)

1

gouw»

O » N

o w» N gow» o o werun gow» + OO wp w

Uow» ®

. Why is classroom design considered a key area of improvement in educational infrastructure?

To reduce the number of students in school

. To create a comfortable and focused learning environment
. To make the school look attractive
. To keep students inside during recess

. What is the likely impact of not having clean & separate toilets in schools, especially for girls?
. Increased physical activity B. Improved discipline
. Better sanitation awareness D. Decrease in student enrolment and attendance

. How do well-stocked libraries and labs contribute to student development?
. They foster curiosity and creativity

. They promote rote learning

. They help reduce the number of teachers required

. They make students competitive with each other

. What is the main reason for promoting digital classrooms in schools?
. To replace teachers with technology

. To reduce textbook usage

. To make learning more interactive and engaging

. To reduce electricity consumption

. Why is infrastructure for students with disabilities important in schools?
. To ensure inclusive education and equal opportunities

. To meet government quota requirements

. To gain media attention

. To reduce the number of students

. How can the lack of sports infrastructure affect students?

. It helps them focus only on studies

. It reduces noise in school

. It negatively impacts physical health and stress management
. It improves attendance

. What role do safety and security measures play in educational institutions?
. They increase the cost of schooling

. They protect students and staff from potential risks

. They create a fear-based environment

. They reduce teacher-student interaction

Why is internet access and computer education necessary today in schools?

. To reduce the need for books

. To prepare students for the digital world
. To entertain students

. To reduce homework
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9. Which of the following best describes the aim of improving educational infrastructure?
A. Creating spaces that support learning, inclusion, and safety

B. Increasing the number of staff

C. Building larger school buildings

D. Reducing the number of holidays

10. What combination of improvements would most directly lead to holistic student
development?

A. Libraries, sanitation, digital access, and sports facilities

B. New uniforms and strict discipline

C. Longer school hours and more exams

D. Monthly inspections and regular punishment

SECTION B - WRITING (08 MARKS)
Q2. You are Rohan/Rohini, a student of Class 10 in Green Valley Public School, Pune.
Write a formal letter to your school principal complaining about the poor condition of the

school washrooms and requesting immediate action. Mention the problems faced by all,
the effects it has, and suggest some solutions of your own. (8m)

SECTION C - GRAMMAR (6 MARKS)

Q3. Edit the following paragraph. There is one error in each line. Identify the incorrect

word and write the correct word in. (1/2x 6 =3m)
Incorrect Correct

Many people enjoys eating junk food everyday.

It is taste good but is harmful for health.

Eating too many oily food can cause problems.

Children is especially fond of chips and burgers.

Parents should teach there children healthy eating habits.

Also, school must encourage student to eat fruits.

Q4. Rearrange the following words to make meaningful sentences. (1 x 3 =3m)

1. to/in/the/field /decision-making/critical/is/thinking/process /any /collaboration /essential
2. rapidly /artificial /transforming /industries /intelligence /across /is /world /various /the

3. solving /collaboration /modern /workplace /problem /in /the /enhances /efficiency /of /the

SECTION D - LITERATURE (16 MARKS)

Q5. Read the extract and answer the questions that follow. (1x4=4m)
Though next morning it was raining,

He began her vocal training.

"But I can't sing in this weather”.

"Come my dear - we'll sing together.

Just put on your scarf and sash ,
Koo-oh-ah! ko-ash! ko-ash!"

So the frog and nightingale

Journeyed up and down the scale

For six hours, till she was shivering

and her voice was hoarse and quivering .
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1. The frog's ultimate aim was to .

a. make the nightingale a sensation b. make the nightingale as good a singer as him
c. maintain his supremacy in the bog d. make a lot of money

2. The animals ‘reaction to the nightingale's song caused the frog to

a. turn a blind eye b. be green with envy

c. drive himself up the wall d. turn blue in the face
3. Identify the reason why the nightingale accepted the frog's tutelage.

a. She was not confident of herself.

b. She wanted to become as good a singer as the frog.

c. She wanted to become a professional singer.

d. She was not a resident of Bingle Bog.

4. The nightingale was sorrowful and pale because she .

a. had been practicing in the rain b. had been performing all night

c. was losing confidence in herself d. was falling ill

Q6. Answer ANY FOUR of the following questions in brief. (2x 4 =8m)

1. The story ‘Two Gentlemen of Verona’ is full of surprises. Briefly mention any two such
instances.

2. Support the opinion that the narrator of ‘Two Gentlemen of Verona 'was kind and sensitive.

3. "The incidental expenses are so heavy," she confides to inquiring friends. Who is the speaker?
What is she referring to here?

4. Bring out the irony in the frog's statement - 'Your song must be your own'.

5. Describe how the monuments and statues brave the ravages of time.

6. Validate the poet’s reference to Time, as being sluttish.

Q7. Answer ANY ONE of the following questions in detail. (4x1=4m)

1. A person who is vain is full of self importance and can only think of himself/herself and can
go to great lengths to prove his/her superiority. Do you think Mrs. Packletide is vain? Give
reasons in support of your answer.

2. When Lucia gets well she writes a letter to Nicola and Jacopo to express her feelings of

gratitude and admiration for them. As Lucia, write the letter.
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ATOMIC ENERGY CENTRAL SCHOOL - 3,MUMBAI
ANUSHAKTINAGAR

PERIODIC TEST - 1 (2025 - 26)

CLASS 10 - MATHEMATICS
Time Allowed: 1 hour and 30 minutes Maximum Marks : 40
General Insturctions:-

1. All the questions are compulsory.

2. Section A contains 10 questions carrying 1 marks each, Section B contains 3 questions
carrying 2 mark each, Section C contains 2 questions carrying 3 mark each, Section D
contains 2 questions carrying 5 marks each,

3. Section E contains 2case based questions carrying 4 marks each.

Section A(10*1marks=10marks)

1 The prime factorisation of 432 is: [1]
a)2* x 33 b) 23 x 34 c)23x33 d)2*x 3%

2 (2++2)is [1]
a) an integer b) a rational number c) A real number
d) an irrational number

3  HCF (132, 77) is: [1]
a) 77 b) 44 c) 11 d) 22

4 If 5is a zero of the quadratic polynomial, x? - kx - 15 then the value of k is [1]
a)- 2 b)- 4 c) 2 d) 4

5 A quadratic polynomial, one of whose zeroes is 2 +v/5 and the sum of whose zeroes is 4, is: [1]
a)x?- 4x- 1 b) X2 +4x + 1 C) X% - 4x+1
d) X2 +4x- 1

6  The sum and product of the zeroes of the polynomial x? - 6x + 8 are respectively [1]
a) 6.and 8 b)_;and—l c)?andl
d)2and 1

7 The zeroes of the quadratic polynomial x? + kx + k, k # 0, [1]
a) cannot be both negative b) cannot be both positive
c) are always unequal d) are always equal

8  The solution of the pair of equations x + y=a+bandax- by=a%- b?is: [1]
aQX=-ay=b b)x=b,y=a c)x=ay=hb
dx=ay=-b

9  The larger of two supplementary angles exceeds the smaller by 18 degrees. What is the measure  [1]
of larger angle?

a) 54° b) 99° c) 81° d) 36°
10 If a pair of linear equations in two variables is consistent, then the lines represented by two [1]

equations are

a) always coincident b) intersecting or coincident

c) always intersecting d) parallel

Section B(3*2marks = 6marks)

11 Prove that 5 - v/3 is an irrational number, given that /3 is an irrational number. [2]
12 Write a quadratic polynomial, sum of whose zeros is2v/3 and their product is 2. [2]
13 Is the pair of linear equationconsistent? Justify your answer. [2]

x+3y=11,2 (2x + 6y) = 22
Section C(2*3marks=6marks)
14 Pprove that 5v/2 - 3 is an irrational number, given that v/2 is an irrational number [3]
15 Find the zeroes of quadratic polynomial x? - 2x - 8 and verify the relationship between the [3]
zeroes and their coefficients.




Section D(2*5marks= 10 marks)

16 Solve the systemof equations 2x - S5y +4=0,2x +y- 8 =0 graphically and find the vertices  [5]
and area of the triangle formed by these lines and the y - axis.

17 [A] If p and q are the zeroes of the polynomial p(x) = 2x? +5x -4 . Find the values of ( 1-p) (1- [3+2]
Q).

[B] Find the zeroes of the quadratic polynomial 4v/3x? + 5x — 2v/3.
Section E( 2*4marks = 8 marks)

18 Read the following text carefully and answer the questions that follow: [4]
February 14 is celebrated as International Book Giving Day and many countries in the world
celebrate this day. Some people in India also started celebrating this day and donated the
following number of books of various subjects to a public library:

History = 96, Science = 240, Mathematics = 336.

These books have to be arranged in minimum number of stacks such that each stack contains
books of only one subject and the number of books on each stack is the same.

[a] How many books are arranged in each stack? (1)

[b] How many stacks are used to arrange all the Mathematics books? (1)

[c] Determine the total number of stacks that will be used for arranging all the books. (2)

OR

[c] If the thickness of each book of History, Science and Mathematics is 1.8 cm, 2.2 cm and 2.5
cm respectively, then find the height of each stack of History, Science and Mathematics books.
(2)

19 Read the following text carefully and answer the questions that follow: [4]
Two schools P and Q decided to award prizes to their students for two games of Hockey X x per
student and Cricket X y per student. School P decided to award a total of X 9,500 for the two
games to 5 and 4 students respectively; while school Q decided to award X 7,370 for the two
games to 4 and 3 students respectively.
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[a] Represent the following information algebraically (in terms of x and y). (1)

[b] What is the prize amount for hockey? (1)

[c] Prize amount on which game is more and by how much? (2)

OR

[c] What will be the total prize amount if there are 2 students each from two games? (2)




ATOMIC ENERGY CENTRAL SCHOOL-3, MUMBAI

PT1 2025-26
CLASS: X DURATION: 1 Hr.
SUBIJECT: ARTIFICIAL INTELLIGENCE MAX. MARKS: 25

ANSWER THE FOLLOWING (1 mark each)

1) ASMART is used to help in goal setting:
a) Goal b) Stress c) Management d) Emotion
2) A parking sign is an element of communication.
ANSWER THE FOLLOWING (1 mark each)
3) People who have intelligence are good at learning while singing.

4) Smart washing machine an example of an Artificially Intelligent device. True or false?
5) The famous Al test that evaluates a machine's ability to exhibit intelligent behaviour
indistinguishable from that of a human is called:
a) Alan Turing Test b) Einstein Test c) Watson Test d) Isaac Asimov Test
6) Write and explain in one line, one example of what is smart but not an Al device of Al.
7) Give an example of social media where we use Al
8) Artificial Neural Networks are inspired by structure and functioning.
9) The theory of Multiple Intelligence was first suggested by
10) Tara is new in town. What application of Al can help her with navigation?
11) There is a chatbot on a website, which guides me through the process of using something. The

chatbot belongs to domain.

Answer the following. Any one. (2 marks each)

12) Explain any two types of ‘Cs’ of effective communication.

13) Discuss any two qualities of self-motivated people.

Answer the following. Any 2 (2 marks each)
14) Describe any two SDGs.

15) Define Al.

16) Explain Natural Language Processing and how is it being used in Al

Answer the following. Any 2 (4 marks each)

17) Explain any four areas of application of Al.
18) Differentiate between the three domains of AI?

19) Explain Al, machine learning and deep learning with the help of a diagram.
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ANUSHAKTINAGAR

PERIODIC TEST - 1 (2025 - 26)
CLASS 10 - SOCIAL SCIENCE

Time Allowed: 1 hour and 30 minutes Maximum Marks : 40

General Instructions:
1. The question paper comprises 20 questions. All questions are compulsory.
2. Questions number 1 to 10 are MCQs of 1 mark each.

3. Question no. 11 to 13 are Very Short Answer Type Questions, carrying 2 marks each.

4. Question number 14 to 16 are Short Answer Type Questions, carrying 3 marks each.

5. Question no. 17 is the case based question with three sub questions and is of 4 marks.
6. Questions no from 18 and 19 are long answer type questions, carrying 5 marks each.

7. Question no. 20 is map based, carrying 1 mark of half mark each.

8. There is no overall choice in the question paper. However, an internal choice has been
provided in few guestions. Only one of the choices in such guestions have to be attempted.

ATOMIC ENERGY CENTRAL SCHOOL - 3,MUMBAI

Which of the following factors played an important role in developing nationalist
sentiments?

1 | a) Technology b) Conservatism c) Industrialization d) Language

[1]

Which of the following arrangement is called a system of checks and balances?
a) Majoritarianism b) Conflict resolution
c) Vertical distribution d) Horizontal distribution

[1]

3 | Reserved constituencies are a good example of which arrangement?
a) Power shared among different parties

b) Power shared among social groups

c) Power shared among different levels of government

d) Power shared among different organs of government

[1]

4 | Why do different persons have different notions of development?

C. Because nationality is different. D. None of these.

A. Because people are different B. Because life situations are different.

[1]

5 | Inthe economic sphere, liberalism stood for ------------------------

a) government by consent b) the right to vote and property

c) the freedom of market and the abolition of state imposed restrictions on the
movement

d) to have freedom of speech

[1]

6 | Read the following events relating to the year 1848 and tick the INCORRECT
event.

a) National workshops to provide employment were set up

b) Barricades were erected and Louis Philippe was forced to flee

¢) Food shortages and widespread unemployment brought the population of Paris
out on the roads

d) National Assembly proclaimed a Constitutional Monarchy, granted suffrage to
all adult males above 18 and guaranteed the right to work

[1]




What is the reason for the lack of water infiltration in desert soil?
a) Low precipitation b) Very less rainfall
c) Formation of Kanker layer d) High temperature

[1]

The land with deep channels that is unfit for cultivation is called:
a) Pastures b) Barren land c) Fallow land d) Badlands

[1]

On which of the following basis does the United Nations Development Programme
(UNDP) publish the Human Development Report ?

a) National Income, Health and Banking

b) Gross Domestic Product, Technology and Innovation

c¢) Manufacturing, Infrastructure and Health

d) Education, Health and Per Capita Income

[1]

10

Since countries have different ----------------- , comparing total income will not tell
us what an average person is likely to earn.
a) economic policies b) reserves

C) resources d) population

[1]

11

Who was Giuseppe Garibaldi? What was his contribution in the freedom
Movement of Italy?

Or

‘The decade of 1830 had brought great economic hardships in Europe.’
Support the statement with arguments.

[2]

12

“The development goal of different categories of people may differ”. explain with
the help of two examples.

[2]

13

What are the two reasons of power sharing?

[2]

14

Although average incomes are useful for comparing countries, they also hide
disparities? Explain the meaning of this statement.

Or
Crude oil reserves are limited all over the world. If people continue to extract it at
the present rate, the reserves would last only 35 - 40 years more. Explain any three
ways to solve this problem.

[3]

15

Highlight any three measures adopted by the Belgian Government to accommodate
regional and cultural diversities.

[3]

16

What type of soil is found in river deltas of eastern coast? Write its main features?

[3]

17

Read the following text carefully and answer the questions that follow:

Sri Lanka emerged as an independent country in 1948. The leaders of the Sinhala
community sought to secure dominance over the government by virtue of their
majority. As a result, the democratically elected government adopted a series of
Majoritarian measures to establish Sinhala supremacy. In 1956, an Act was passed
to recognise Sinhala as the only official language, thus disregarding Tamil. The
governments followed preferential policies that favoured Sinhala applicants for
university positions and government jobs. A new constitution stipulated that the
state shall protect and foster Buddhism. All these government measures, coming
one after the other, gradually increased the feeling of alienation among the Sri
Lankan Tamils. They felt that none of the major political parties led by the
Buddhist Sinhala leaders was sensitive to their language and culture. They felt that
the constitution andgovernment policies denied them equal political rights,
discriminated against them in getting jobs and other opportunities and ignored their

[4]




interests. As a result, the relationsbetween the Sinhala and Tamil communities
strained over time.

1. What is the predominant religion in Sri Lanka? (1)

2. What was the main objective of the Sinhala leaders in Sri Lanka after
independence? (1)

3. How did the majoritarianism policy affect the Sri Lankan Tamils, and what
were their main grievances? (2)

18 | "The development of nationalism did not come about only through wars and [5]
territorial expansion. Culture played an important role in creating the idea of the
nation." Elaborate upon the statement.
Or
What steps did the French revolutionaries take to create a sense of collective
identity among the French people
19 | What are the different types of soil found in India? What are the characteristic [5]

features of alluvial soil?
Or
What is soil erosion? How can we prevent it?

20

On the political outline map of India given below, identify the soil types.

[1]
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ATOMIC ENERGY CENTRAL SCHOOL - 3, MUMBAI
ANUSHAKTINAGAR

PERIODICTEST-1 (2025 - 26)

CLASS 10 SUBLECT - SCIENCE

Time Allowed: 1 hour and 30 minutes Maximum Marks : 40

General Instructions:

1.
2.

This question paper consists of 14 questions in 5 sections.

All questions are compulsory. However, an internal choice is provided in some
questions. A student is expected to attempt only one of these questions.

Section A consists of 3 objective type questions carrying 1 mark each.

Section B consists of 3 Very Short questions carrying 02 marks each. Answers to
these questions should in the range of 30 to 50 words.

Section C consists of 3 Short Answer type questions carrying 03 marks each.
Answers to these questions should in the range of 50 to 80 words.

Section D consists of 3 source - based/case - based units of assessment of 04
marks each with sub - parts.

Section E consists of 2 Long Answer type questions carrying 05 marks each.
Answer to these questions should be in the range of 80 to 120 words.

Section A
1 In the reaction: CuO + H, = Cu + H , O, the reducing agent is: [1]
a)H, 0 b) Cu c) H, d) CuO
2. Assertion (A): The inner walls of the small intestine have finger like projections | [1]

called villi which are rich in blood.

Reason (R): These villi have a large surface area to help the small intestine in
completing the digestion of food.

a) Both A and R are true and R is the correct explanation of A.
b) Both A and R are true but R is not the correct explanation of A.
c) Ais true but R is false.

d) A is false but R is true.




How will the image formed by a convex lens be affected, if the upper half of the
lens is wrapped with a black paper?

a) The lower half of the inverted image will not be formed.
b) The image of upper half of the object will not be formed.
c) The brightness of the image will reduce.

d) The size of the image formed will be one - half of the size of the image due to
complete lens.

[1]

SECTION-B

Oil and fat containing food items are flushed with nitrogen ?Why ?

[2]

1. State the role played by the following in the process of digestion.
a. Enzyme trypsin
b. Enzyme lipase

2. Listtwo functions of finger - like projections present in the small
intestine.

[2]

State the laws of reflection of light. List four characteristics of the images formed
by plane mirrors.

[2]

SECTION -C

Identify the type of reactions taking place in each of the following cases and write
the balanced chemical equation for the reactions.

1. Zinc reacts with silver nitrate to produce zinc nitrate and silver.

2. Potassium iodide reacts with lead nitrate to produce potassium nitrate
and lead iodide.

[3]

How are the power and focal length of a lens related? You are provided with two
lenses of focal length 20 cm and 40 cm respectively. Which lens will you use to
obtain more convergent light?

[3]

Enlist three main events which occur during Photosynthesis . Explain.

[3]

SECTION -D

10.

Read the following text carefully and answer the questions that follow:

When a more reactive element displaces a less reactive element from its
compound, it is called a displacement reaction. The reaction is of two types.

[4]




Single displacement reaction and double displacement reaction.

Iron being more reactive than copper displaces copper from an aqueous solution
of copper sulphate. This is an example of a single displacement reaction.

On adding silver nitrate solution to sodium bromide, a yellow ppt of silver
bromide and solution of sodium nitrate is formed. This is an example of a double
displacement reaction.

1.  When dil. sulphuric acid is added to pieces of iron sulphide, hydrogen
sulphide gas is produced and soluble ferrous sulphate is formed. Which
chemical reaction is involved in this process? (1)

2. Mention reaction which is used for the preparation of oxygen gas in the
laboratory.(1)

3. What are the products formed inthe double displacement reaction
discussed below?(2)

Test tube

Test tube holder

( -
W~ ) BaCl, solution

-
\
/ \— Flask
\

\
Na,SO,solution

OR

Which elements displace aluminum from its salt?(2)

11.

Read the following text carefully and answer the questions that follow:

Human digestive system is a tube running from mouth to anus. Its main function
is to breakdown complex molecules present in the food which cannot be
absorbed as such into smaller molecules. These molecules are absorbed across
the walls of the tube and the absorbed food reaches each and every cell of the
body where it is utilised for obtaining energy.

1. Name the glands present in the buccal cavity and write the components of

food on which the secretion of these glands act upon. (1)
2. Two organs have a sphincter muscle at their exit. Name them. (1)
What will happen if:

a. mucus is not secreted by the gastric glands.

[4]




b. Villi are absent in the small intestine. (2)
OR

Bile juice does not contain any enzyme, yet it has important roles in
digestion. Justify the statement. (2)

12. | Read the following text carefully and answer the questions that follow: [4]
The ability of a medium to refract light is expressed in terms of its optical density.
Optical density has a definite connotation. It is not the same as mass density. On
comparing two media, the one with the large refractive
index is optically denser medium than the other. The other medium with a lower
refractive index is optically rarer. Also the speed of light through a given medium
is inversely proportional to its optical density.

1. Determine the speed of light in diamond if the refractive index of diamond
with respect to vacuum is 2.42. Speed of light in vacuum is 3% 10 & m/s.
(1)

2. Refractive indices of glass, water and carbon disulphide are 1.5, 1.33 and
1.62 respectively. If a ray of light is incident in these media at the same
angle (say@ ), then write the increasing order of the angle of refraction in
these media.(1)

3. The speed of light in glass is 2x 10 8 m/s and in water is 2.25 x 10 8
m/s.(2)

a.  Which one of the two is optically denser and why?

b. Aray oflight is incident normally at the water - glass interface
when it enters a thick glass container filled with water. What will
happen to the path of the ray after entering the glass? Give reason.

OR
The absolute refractive indices of water and glass are g and % respectively.
If the speed of light in glass is 2 X 10  m/s, find the speed of light in (i)
vacuum and (ii) water.(1)
SECTION- E
13. 1. Explain the term corrosion with an example. Write an example. Write a [5]

chemical equation to show the process of corrosion of iron.
2.  What special name is given to the corrosion of iron?
3. What type of chemical reaction is involved in the correction of iron?

4.  Name any three objects (or structures) which are gradually damaged by




the corrosion of iron and steel.

14, 1. Complete the following ray diagram:

2. Find the nature, position and size of the image formed.

3. Use mirror formula to determine the magnification in this case.

[5]
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